TRIGONOMETRIC

FUNCTION IDENTITIES

Quotient Identities

tan® = _sinB_
cos6

_ cosB
cot® = “Gihe

Reciprocal Identitites

1 1

SIN® = csce 9= ine

o= 1 _ .

COSP = “seco SeC8 = “cose
1 1

@and = Gote = tang

Pythagorean Identities
sin®0 + cos?0 = 1
sec? - tan0 = 1

csc?® - cot?® = 1

Even/0Odd Identities

sin(-8) = -sinB cos(-8) = cosB

tan(-0) = -tan® cot(-8) = -cotd

csc(-8) = -csch sec(-8) = secB

Cofunction Identities

sin (l - 9] = cosB (:os(1 - B] = sin®
2 2
tan (l - 9] = cot® cot (1 - 9] = tan®
2 2
csc(l - e] = secB sec(L - B) = cscB
2 2
™

— radians = 90°
2

Sum/Difference Identities
sin(® = ¢) = sinB cos¢ + cosO sing
cos(D = ¢) = cosO cosé F sind sing

_ _tanB + tan ¢
tan(® + ¢) 1F tan® tan ¢

Double Angle Identities
sin(20) = 2 sinB coso
cos(20) = cos?0 - sin®e
cos(20) = 2 cos?e - 1
cos(20) = 1 - 2 sin“0

SR

Half Angle Identities

sin?0 = 1 - cos(20)
2

cos?0 = 1+ cgs(ze)

tan?a = 1 - cos(20)

1 + cos(20)

Sum to Product of Two Angles

sin9+Sin¢=25in[e;¢ JCOS( eé(p )

sing - sing = 2(:03( B;:b Jsin( Béd) )
]

Joos( 252 )
Jsin (£3%)

cosB + cos¢ = 2cos

(%
(%3

0+ ¢
¢

cosB - cos¢d = -2sin

Product to Sum of Two Angles

sin® sing = 15088 - &) —2cos(e + $)

cosB cos¢ = [cos(® - ¢) ;cos(e + )]

sin® cos¢ =

[sin(® + ¢) + sin(O - ¢)]
2

cose sing = [sin(B + 4’)2' sin(® - ¢)]




